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SECTION- A 10 x 2 = 20 |

VERY SHORT ANSWER TYPE QUESTIONS

Answer All questions. Each question carries 2 marks.

Iff:R—> R g:R— R aredefined by f(x)=4x -1 and g (x) = * + 2 then [ind
a1

(gﬂ[ =

£

Determine whether the function log (x | \a? + 1) is even or odd.

Find a unit vector parallel to a+b+c ifa=(2,4,-5).b=(1,1,1) and
e=10;1,2)

Find the vector equation of the line passing through the points 2i +j + 3k and
—4i+3j -k

Ifa=i+2j— 3k, b=23i—j+ 2k then show that a + b, a — b are mutually perpen-
dicular.

Show that cos 42° + cos 78" + cos 162° = 0.
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Prove that &im‘“ﬁ+s.u:f1 -S-+ Rmd?k+ 51114 8-

Prove that sinh 3x = 3 sinh x + 4 sinh'x.

What is the value of :’:{ in an cquilateral triangle ABC 7

. Find the locus of z=x+iyil Re [ ZL%] =l
2 — A

SECTION - B -
SHORT ANSWER TYPE GUESTIONS

Atlempt any 5 questions. Each question carrics 4 marks.
Show that the vectorsa -~ 2b+e,2a+b —¢,7a—4b 4 ¢ arc linearly dependent,
Ifa+h+¢=0,|al =3, |b|=3,| el =7 then show that (a, b) = n/3.
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Ifacos 26 + b sin 20 = c has 8, 8, as its solutions and tan 8, # tan0,, @ +c = 0
c—da

2
then show that tan £, - tan#8, :—b, tan B, tan 0, =

e - U-I-u'

e 5 s
Solve Sin™ ' x + Sin 12x = =
1 . =
bl B
@~ sin(d-BY

Show that 2° sin’ 0 cos” 0 = sin 70 — 3 sin 50 +sin 30 + 5 sin 0.

prove that A ABC is a right angled triangle,

SECTION - C 5x7=235
LONG ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question carries 7 marks.
Show that f: ¢ — ¢ defined by f(x) = 5x + 4 is a bijection and find ™.
By the principle of mathematical induction, for all n € N prove that

a(n+ 1) (n+2)
12 :

Find 4 if the points 3i — 2j — k, 2i + 3j — 4k, — i + j + 2k, 4i + 5] + )k are coplanar.
If A+ B+ C=180°% prove that sin 24 + sin 2B+ sin 2C = 4 sin 4 sin 8 sin C.
InAABC if a=13,5=14,c¢ =135 then [ind the values of r, 7|, r5, 7, and R,

(1) + (P42 + (P +2°+3) 4. .. n terms =

The angle of elevation of the lop of a tower from the bottom of the building is
double that from its top. If the height of the building is 50 mts. and the height of the
tower above the bottom of the building is 75 mts, find the angle of elevation of the
tower from the bottom of the building.
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If ot and [3 are the roots of x” —2x + 4 =0 (hen show that " + " =2""' cos [ 2—“ \
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